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1. Which of the following is not a quantitative technique for evaluation of students?

(A) Oral Techniques (B) Rating Scale Techniques
(C) Written Techniques (D) Practical Techniques
fqenfell & Heaies @ foy fefaRad & 9 Sl 9TdS deb-d 81 8°?
@) wAiRg®d dH® @) w¥ R dee
(@) foRga do-id (@) UaRTe dHh-d

2. The essence of an effective classroom environment is -
(A) A variety of teaching aids (B) Lively student-teacher interaction
(C) Pin-drop silence (D) Strict discipline
U4 DHeTThe] ATglel BT IR & —
(31) 9T 9R ferd Iure™ @) <haa faemfi—Ree siafsar
(&) qoi wifa () WOR A

3. Which of the following is true regarding formative evaluation?
(A) It refers to term tests, annual tests and external examination .
(B) Itis done at the end of the academic session.
(C) It provides continuous feedback to both pupil and process.
(D) It provides overall result of the teaching-learning process.
TS Jeaies & forg FefoRaa § & @& 921 272
(@) T wifere Sita, a1ffe Sifa &R I/ uRer &7 Fafia w=ar 2|
@) I Heffe I3 & 3fd # fhar AT 2
(@) I BIF iR Rietd & IR gfayfie <dr I8dm ¢ |
(@) us Rreror sferrd & Fwgof gRomy <ar 2 |

4. Arrange the following steps of the Inductive Method of teaching in the correct order —

1.  Framing tentative solution 2. Searching for data
3.  Elimination 4.  Recognition of the problem
5. Organization of data 6. Verification

(A) 2,6,1,43.5 (B) 635,124

(C) 4,25,1,3,6 (D) 1,5,3,2,6,4

freror @1 st ufgfa & fA=forRad aront &1 Sfaa o9 + SRy —
FATFAT AT BT G

MBSl BT WIS

EEINE

TR @l fafed &=

NISE]

(@1) 26,1435 @) 635124

(A) 425136 () 153264

o ok~ w N~
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5. Visual aids of teaching does not include-

(A) Chalk board (B) Motion pictures
(C) Sketches (D) Radio

1T & g Sure # fEferRaa aftafera w8 € —

(1) P ue @) = o=

(@) X e (@) ~fea

6. A research which makes persistent and patient efforts to discover something new to enrich
the human knowledge in a fundamental fashion is called-

(A) Action research (B) Applied research
(C) Basic research (D) Motivation research
AG S Bl Jd w9 4 g B b U B A% Wiol B D Y R AR
Sl = BT PR & -
@) forar oy @) aEIRS e
(@) wiferd o (@) SRS U
7. 1f the population from which a sample is to be drawn does not constitute a homogeneous
group then ................. sampling technique is applied so as to obtain a representative
sample.
(A) Stratified (B) Cluster
(C) Quota (D) Systematic

Ife fodt T ST | 9 S @Y gordig T8t 2 ufafafaree e eredr @ ar
I8 9 A1 Aee= deie el —

(1) (@ T
(|) Pler () ouaRerd
8.  The press reports made by correspondents constitute.
(A) Primary data (B) Secondary data
(C) Tertiary data\ (D) None of the above
areeransll gRT IR & T U9 Rud g —
3N A ded q) fade qeg _
) D q Q) SWRIF H 9 Blg el

9. Which of the following is the characteristic of interratter reliability?
(A) It is the extent to which tests or procedures assess the same characteristics, skill or
quality
(B) It is the agreement of measuring instruments over time.
(C) Itis the extent to which two or more individuals agree.
(D) TItis the extent to which two items measure identical concepts at an identical level of
difficulty.
frfaRad @ 3 SIFRI FFSfad faead-gar @ faevar 8?2
(@3) IE a1 A T Siel o fb uEer I ufhdr FHM fARvdn, dierd AT T @I
qRATHT BN
@) IT IHY YIS AIYA BT G ©
([) TE a1 A1 STef ad & |1 a7 e aafdd a8
(@) Ig a1 AT ® SEl 9% [ FHM BfeAs WR UR T HE A STaERURN &1 A9
G
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10. A group of experts in a specific area of knowledge assembled at a place and prepare a
syllabus for a new course. The process may be termed as.
(A) Seminar (B) Workshop
(C) Conference (D) Symposium
U fARre 99 & &3 # Rl &1 W9 U RIH R aigd 8 &R [l 77 Jeamd
&1 o1 B € $9 UlhAT BT B8 Fhd © —
@) | @) BT
(&) e () uR¥a
Read the given passage and answer questions 11-15:
When Fa-hsien visited India in the early fifth century he reported that no respectable

person ate meat, the consumption of which was confined to low castes. He probably
exaggerated, but certainly by this time many Hindus of higher classes were vegetarians.
The growth of vegetarianism was of course linked with the doctrine of non-violence,
which was already old at the time of Fa-hsien. It was known in the days of the Upanishads
and was elaborated by Buddhism and Jainism, which were largely responsible for the
gradual disappearance of the greater Vedic sacrifices at which large number of animals
were killed and eaten. The reign of Ashoka is a landmark in the development of
vegetarianism, for he encouraged it by his own example, and forbade the killing of many

animals.

STd Gredl el B YR | BIeA 9K SR O S Faqrdn fb Brg f qeriy At
o gRfl, Jf 98 9 2 5 SS9 9y 9% sMa STd oifd drdl g e o |
RMBTERT AIGTH BT AR AT & G H ST AT Sl B & A4 b YRET &
g1 o7 | I8 Ragid Sufiel & &A1 § S Sfrar of iR dlg de o F €|l q Sl
I fHar, S vgE: 9 99 @ oy eR o & 98 afde afa &1 a1
Bl 98d AR UYRll BT ART 3R TWRT ST AT | 3= BT AT AThIEREE & [dabrd
@ U U U dId o dild IoiH WI S IR0 9 I URT a1 iR s
Ugp3tl I BT BT US|

11. On what theme does the main emphasis of this passage lie?

(A) Food habits of the people (B) Prevention of cruelty to animals

(C) Healthy system of the time (D) Agricultural policy of the government
9 JJIARY DT G IARE T 57

(31) QR BT Ao BT JATad (@) Uzl & 9fd sar &1 FarRoT

(A) AT D W gLl (8) WRPR @I N
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12. The doctrine of non — violence meant -

(A) Animals should not be killed for food.

(B) No compulsion to be vegetarian.

(C) Society was divided into low castes and high castes.

(D) Only Buddhists & Jains were non-violent

Jffear & RagTd &1 AR o —

(31) wIo & forg Ugpell ®f 8l ARAT @fed | (9) TMHERI B B qrRgdl Tol © |

(@) A ek S oot ® i o (7)) dad dig &R 9F e o |
13. Foreign visitors should avoid generalization -

(A) As it may lead to exaggeration (B) They may be guilty of biased reporting

(C) As it may not be true (D) It may be charitable

et st &1 A=A T8 SR @R —

(@1) wifdr I7 fcrerafaayel 81 waar ©

@ ¥ qahre ¥ IR ka3 Ry A B W &

(@) Jg I T8l 8 Ahdl &

() IS HUY B Ahdl ©

14.  Which of the following is opposite in meaning to the word ‘exaggerated’ in the passage?

(A) Cherished (B) Lessening

(C) Contrary (D) Popularity

Jrgarer # feiRad § | BI4r ees * JAfTerIfaaqel’ &1 faed 81 Fadl &7
C)IECIERIIER] @) we

(@) o (@) Bz

15. Emperor Ashoka encouraged vegetarianism.
(A) By his own example
(B) But did not impose ban on cow slaughter
(C) But did not enact law to prevent cruelty to animals.

(D) But did not impose a ban on animal sacrifice.

qUTE 312 A ITHIBNIAIE Bl dgerdr faar —

(31) @I & IQTERYT gWI

@) <fea 7 & R ey 981 o |

() oI gl & Ui sHRar &1 gdiSd &1 & oY S 81 995 |
(@) <ife oy afer W ufcrerer 781 o |
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16.  Which of the following is not a merit of oral communication?

(A) Saves time (B) Immediate clarification
(C) Permanent (D) Can be informal
fforRaa & | ai=ar 9iRas GaR &1 107 T8 82

@) I BT FEd @) GRd DR

(@) wemf (@) SMmIY=IR® & Adhdl ©

17.  Which of the following are semantic barriers to communication?
1. Personal emotions

Fears of being misinterpreted

Language translation

Cue meaning

Competencies

Gestures

Al

Signs and symbols
8.  Perceptual variations
(A) 25,1,6 (B) 7,3,8,5
C) 3,74, (D) 3.4,7,6
ffoRad & A S0 TR @ oref el 9y 2?
1. fFAITT AT
Teld AT bl 9Y
SIS CICH
Ao 37
TETdTg
BIIHTT
g iR udli®
8. AURMIHD fafderdmy
@) 2,516
@) 3,74,1

18. Dyadic communication is.

N o o bk~ w DN

7,3,8,5
3,4,7,6

aed

(A) Organizational communication (B) Public communication

(C) Intra-personal communication (D) Inter-personal communication
I HaR 8-

(@1) HEeAHD FOR
(@) SfaRT—fddiTd HaR

ATdSTTh TR
IR—AfIITT TR

<)

G
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19.

20.

21.

22.

Which of the following is the first step in effective communication?

(A) Select the channels of communication.

(B) Determine the objectives of communication.

(C) Plan the evaluation procedure.

(D) Identify various means of communication .

gqTdT AR § fEfeRad # 9 U8l ©gH i 8°

@ IR & A9l BT AIA @) FOR & STl B T HIAT

(d) Hedih YoTell &1 e @) R & o= armE &1 fafed s
The project Vidya Vahini launched by Atal Bihari Vajpayee in 2003 is related to.

(A) School computerization programme (B) TV programme related to mass literacy

(C) Adult literacy programme (D) Midday meal programme

2003 ¥ rce faBrl aoRlt gRT \ifa faen afe=h aRaresT wwfta 2 —

(31) fIermer R geIHRYT BRI%H @) S ARRdr ¥ 9T cellfded dRihH
(@) dre e srfma (@) AT Ao B

If + means - , - means X, X means + and <+ means +, then which of the following

equations is not correct?

(A) 10X5-2+4+6=2 (B) 7-15x3+6+4=33

(C) 12%x4+5+9-2=16 (D) 14+-7-5+410%x2=45

e+ drRf T~ dAd & XX BT Ad &, + Fqd g+, ar v F=faRag
H A BT FHIBIOT el T8 27

(@) 10x5-2+4+6=2 @ 7-15x3+6+4=33

@) 12x4+5:9-2=16 @) 14+7-5+10x2=45

In a row of children Leena is 9th from the left and Birla is 13th from the right. They
exchange their positions and then Leena becomes 17" from the left. Find the new
position of Birla.

(A) 18" (B) 27"

C) 21% (D) 25"

JoE B TS Ufdd H S 90 W 9 F W W 2 3R fRell SR | 13 § WIH W 2|
ST ST WM 98dl ofd 2 3R ofFr 9 9 17 d WIF W o7 W g | foRen o 78
ReIf &1 gdr BT —

@) 18 df @) 27 4t

@) 21 (@) 25 4df
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23.

24.

25.

26.

S years ago, the average age of A, B, C and D was 45. With E joining them now, the
average age of all five is 49 years. How old is E?

(A) 27 years (B) 49 years

(C) 45 years (D) 55 years

ure a9 gqd A, B, C 3R D &I 3f19d g 45 99 i1 | E & eMfieT 89 9 39 Aad (g
49 a¥ B AT €| E &1 S €T 87

@) 27 a9 @) 49 a9

() 45 a9 (@) 55 a¥

If PAINTER is written in a code language as NCGPRGP, then REASON would written
as.

(A) PCYQMN (B) PGYQMN
(C) PGYUPM (D) PGYUMP
Aaf& PAINTER U&% e 99T § NCGPRGP ferar ST &, df REASON fof@r SR
(A) PCYQMN (B) PGYQMN
(C) PGYUPM (D) PGYUMP

Choose the correct alternative that will continue the same pattern and fill the blank. 121,
225,361,...cccinienne.

(A) 441 (B) 484
(C) 529 (D) 729
qel famed &1 gAY S fb 591 %9 BT IR /G | 121,225,361,
(@1) 441 (d) 484
(|) 529 () 729

In the following question, a statement is followed by three courses of actions. consider the
statement and given courses of action and decide which follow the statement logically.

Statement- There is a great delay in obtaining the bank loan because a lot of time is
spent in checking the credit worthiness of the applicant.

Course of action-
1. The credit worthiness clause should be completely removed.

2. A part of the loan should be sanctioned immediately with high rate of interest
while the remaining part to be sanctioned after regular checking of credit
worthiness of the applicant.

3. The system for checking credit worthiness of applicant is to be reviewed and

simplified.
(A) Only 1 and 3 follow (B) Only 3 follows
(C) Only 2 and 3 follow (D) Only 2 follows
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27.

28.

fFrforiad ued o U dUF @ d1s fhar & 9 UeR o gU § $UF 3R fhar &
UHRI TR IR ST 3R T DI P BFET UPR B9 & a8 dHHETd ©
BT db RO o H 984 Aol B ST © Hifd BBl FHYA IMMAaT DI AT DI qal
FRA H T A 7 —
foar @ TeR:

1. 9T Ul BT R 8T <A1 @Sy

2. PR BT U ANT Sl Aol &% WR R & (&7 ST @12y 3R q1fd 231

3MAEd B F0T YAl Bl FRFT U ¥ & | @a) fear S =,

3. 3MTdgd B T UTHAT DI SiId Fae] &I YA-HHIE 3R FRAIBIT BT A1
@) ®ad 1 &R 3 THATT & @) ®ad 3 THATT &
([) ®ad 2 R 3 THATT & (@) ®ad 2 THATA &

Read the information given below and answer the questions 27-28

A.B,C,D.E and F are cousins and have been allotted a flat each from the two rows of three
flats each. Three of the flats face North and the other three face south. B gets a North
facing flat which is not next to D’s flats. D and F get diagonally opposite flats. C gets a
South facing flat next to F’s flat while E gets a North facing flat.

FrAferRad o &1 ufey iR uea 27 —28% IR QIR

A, B, C, D, E 3R F TR g 3R I TS &I 9 Tolc $ I Gl § ab dele
JTEfET B3N & UM Fele IR DI AR T 3R 9 31T &0 & TR% & B Bl IR Bl
IR Helec FeT 2 Sl fh D @ Welc & 491G 8l & D 3R F & Teolc U Y & 9 &

C I Sf&or &) el e € Sdfd F &l IR g,
Which of the following people get South facing flats?

(A) B,E,D (B) F,A.E

(©) E,C A (D) D.E, A

frfaaa & 9 fhg sferor gl weie e 272

(A) B.E.D (B) F.AE

(C) F,C, A (D) D,E, A

If E and A interchange their flats, whose flat will be next to that of E?
(A) F (B) B

€ C (D) D

Ifg E 3R A 31U Telc 3MU9 H 9 ofd & aI E & 918 {1 Tele BRI?
(@) F @ B

@ C ) D

[GPTRA (021)] Page 9 of 16



29. Venn diagram is a kind of diagram to.
(A) Represent and assess the validity of elementary inferences of syllogistic form.
(B) Represent but not assess the validity of elementary inferences of syllogistic form.
(C) Represent and assess the truth of elementary inferences of syllogistic form.
(D) Assess but not represent the truth of elementary inferences of syllogistic form.
9 IRW Yeh YbR BT 3RE & Sl —
(@) Aferd wu H URfe frspsl @ Jear o1 ufaHitE ik Heaifed oxar g |
(@) Difeedr ®u § URAIG frepsl B derar o1 afafiRed wrdr ¥ W geuifed € bR |
() «fvs ©U H URMS =R @ Ioaar & gfaFRa $iR qeifdd wRar 2
(]) ftvs ©U H URMG T=HET @ AT &I qedifdhd &Ral 8 W ufaHfee T8 &var |

30. Inductive reasoning is based on.

(A) Uniformity of nature (B) Ceritical thinking

(C) Seeing logical relations (D) Repeated observations
fTTee a@ amerRa ® —

(31) ufd B HHRUAT WX @) SMArEEHS A W)
([) qHETT =T B @ TR @) frafia odgeror

The following graph shows the number of units (X 100) of the three cycle brands A, B

and C sold by a dealer in six consecutive years. Study the graph to answer the questions
31-35.

80

Number of cycle brands sold(x 100}

1986 1987 1988 1989 1890 1991
Years

@A mB mC
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freforRaa gt e fashdl gRT oFITAR B: aui & o< =Y 19 Asfehd @I i A, B
R C &I gHISAT BT AT (x 100) BT FSRT HRAT & AGIT BT MeTIT HIFTT 3R
U9 31—35 & SN SIford —

80

70

60

50

40

30

Number of cycle brands sold(x 100}

1986 1987 1988 1989 1890 1991
Years

@A mB mC

31. In which of the following years was the sale of all cycles the lowest?

(A) 1986 (B) 1987

(C) 1989 (D) 1988
frfalRaa & & foa o # SEfea o1 Owg 999 o0 87
(?1) 1986 (&) 1987

(|9) 1989 () 1988

32. In which of the following years the sales of A and B was the same?

(A) 1986 (B) 1987

(C) 1988 (D) 1989
fFrferiRad # 9 f5| 99 # A ok B @ fde! TR g8 oI?
(?1) 1986 (&) 1987

(\) 1988 () 1989

33. For which of the following brands is the ratio of the highest annual sales figure to the
lowest annual sales figure the highest?

(A) A (B) B

©) C (D) Both (B) and (C)

frfalRaa & 9 gis o if¥emdq affe 9ot & sffes IR Aad aiite [l & adbs
&7 3T Haifdes 28—

@) A @ B

@) C (€ B3R (C) <l
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34. For the given period, brand B registered an overall growth of.

35.

36.

37.

(A) 30%
(©) 70%
QU 7T 999 ¥ §is B A § gig @l
@) 30%

(|) 70%

(B)

(D)

@)
()

40%

75%

40%

75%

For the period given, the percentage increase in the cumulative sales figure of the three

brands is.

(A) 80% (B) 50%

©) 30% (D) 25%

fag U, I # Hi g 7 d@d Awa sriwel # ufaera afg -
@) 80% @) 50%

(|) 30% () 25%

MICR has made possible.

(A) Cashless society (B) Cheque less society
(C) Credit less society (D) None of the above
MICR & |9q fdar g —

(@) S HATS @) =P €N qar

(@) 9rg 4B |H (@) SWIad H | B3 el
DTP is an acronym of.

(A) Digital task processor (B) Desk top publishing
(C) Down top programming (D) Data transfer process
DTP uRavff o ©

(@) Digital task processor (@) Desk top publishing
(9) Down top programming () Data transfer process

[GPTRA (021)]
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38.

39.

40.

You must installa ................ on the network if you want to share a broadband internet
connection.

(A) Router (B) Modem

(C) Cable (D) Mouse

IS AT P diSdS B9 Bl AT HIAT AT8d & Al SMYDI D TR ..o T
BT

@1 ISR @ #feH

(@) Dad (@) #rs|

Time sharing refer to.

(A) Companies providing a service of selling computer time to organizations.

(B) Allotment of time slots for different departments in a company to use computer.
(C) The time for which the internet is used by any organization.

(D) Visiting different sites providing educational information for a predefined time.

THY AgYToTT T STIYTT & —

(31) wHEl FEeHd! B HFgex I Ay o JdT UqH N |

@) us du H ANE 9T $ SFgey AT R B oy F99 e gad N |
(@) fo=dt Wt FoeAr &1 geIHe ST BRI BT FHI |

(@) U QEHEiRT §9g & ol TR 3IeRT RIHl IR I &R Uelfordh ol Y& R |
Band width is -

(A) Highest frequency of signal

(B) An application software

(C) Difference between the highest and lowest frequencies of signal
(D) Transferring data to the computer

Jefag & —

(@1) RrTel @ sfferepaa sgfT

@) TP U= AHcda”

(@) R @ Af¥edd IR YgAqH SMgRT & d1d TR

() PSR H bl BT FRIIR]
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41. Which of the following is not a natural source of natural radioactive pollution?
(A) Radionuclide’s in Earth’s crust (B) Internal radiation
(C) Solar rays (D) Farm waste
frfaRaa # 3 T UTpfae St UguuT &1 UTgpfaes FAd T8l &7
(1) gAl @I T W A Yersd @) omaRe® fafdwor

(@) |R ol (&) wd BT uUlRre

42. Where is the Hirakund Project located?
(A) On Chambal in MP (B) On Narmada is Gujarat
(C) On Mahanadi in Odisha (D) On Mahi in Gujarat
ERTGS URATSHT Haf Rerd 27?
@) #=T Uew H gHd W (@) ToRE H THaT W)
(A) onfeem # AeME W) (&) ToRE ¥H #E W)

43.  Which of the following is true about nuclear energy?

(A) It refers to movement of large quantities of water to convert into usable form of
energy .

(B) It refers to those processes where biological forms of matter provide the basis for
energy.

(C) It can be obtained both through fusion and fission processes.

(D) It is the exploitation of heat energy of Earth within 10 km of Earth’s upper crust.

DI Hofl & aR A F=felad § | S |8l &7

(31) SHBT 3f T DI 98d TSI AMAT B THANEA B IUANT H ol S drell Holl
gRafid & 2 |

@) ST 3N I Uil | ® el garf @ Sifdd Wwd ol B MR USH &R &

(@) = Ao iR faEed Ml | ura fhar S da&ar 2 |

(8) UE YAl &1 I |8 & 10 fharlex & =R AU Holl B ITAN 7 |

44. Tsunamis are huge sea waves caused by -

(A) Winds (B) Tornadoes
(C) Volcanoes (D) Earthquakes
A g H SO dER © off gl 8 —

(e1) ®aeT ¥ @) Searet d
(¥) Saverge 9 (@ @
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45. Most of the weather phenomenon takes place in the -

(A) Troposphere (B) Stratosphere

(C) Ionosphere (D) Tropopause

3rferTer A R geAn B § —

(1) &9 e C) L RIRE S|

(@) asa (@) g
46. The Verstenhen School of Understanding was popularized by -

(A) German Social Scientists (B) American Philosophers

(C) British Academicians (D) Italian Political Analysts

Jell & dRKIg WA Bl AlBUg I/ T —

@1 S G IS gRT @) smRar Eif® grT

@) fafewr srprefet gr (@) scifersd IoHIfas faRvs! grRT
47. Which one of the following statements is not correct about the University Grants

Commission (UGC)?

(A) It was established in 1956 by an Act of Parliament.
(B) Itis tasked with promoting and coordinating higher education.
(C) Itreceives Plan and Non — Plan funds from the Central Government .

(D) It receives funds from State Government in respect of State Universities.
freafdenera sMe™ A & IR # ffaRad § & dFar woF |d T8 27
(1) 1956 H WG B YD ISR gRT S 1fud fhar 13|

@ <=a fen @ afigfg R e gaaT aRf 2

() T DI WRER A AT IR IR — o iy fAed 2

@) o feafdeneas & forw 39 50 SRR ¥ AT fAed 7|
48. The idea of Democratic Decentralization in India was popularized by -

(A) A.D. Gorwala Committee, 1951 (B) Paul H. Appleby Committee, 1953
(C) B.R.Mehta Committee, 1957 (D) Ashok Mehta Committee, 1978
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49.

50.

YRA H Arbar~=d [Gbaidol & [GaR I Arhiia g1 —

(31) U QI TIRaTe |, 1951

(@) dfel o Ivetdl |fAfd, 1953

() ). IR, HEdT AL, 1957

() ore HEdT |AHfd, 1978

The Lok Sabha can be dissolved before the expiry of its tenure of five years by -
(A) The Prime Minister

(B) The Speaker of Lok Sabha

(C) The President on the recommendation of the Prime Minister

(D) The Election Commissioner

e @) oraf A G wiies T BT T BT T el & —

(31) ve WA gRT @) P |91 & T R
(@) guE A B RER R AU R (T) G YA §R]

the maximum duration between two sessions of the Indian Parliament should not be more

than -

(A) 3 months (B) 6 months

(C) 9 months (D) 1 year

YR HdS & &l 93 & 419 Afedhdq fafey g9 A¥d el 8 Fahell & —
@ AR @ BT AEH

(@) A | @) UuHay ¥

a0
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